Corrections for TPE2, Second Printing
1. page 25, 1% line of table, change e~*/% to e=%/?

2. page 88, display (1.11), change the exponent of ¢ from n — 1 to n — t.
3. page 98, line 12 |, change “Example 1.6.27” to “Example 1.6.24”

4. page 127, Theorem 6.6 (i7), change the display

P4 A, () —Pg(2)
A

< bg)(x) for all A,

to

P4 A, () —Pg(2)
Apg(z)

< bg)(x) for all A,

5. page 169, Example 3.2. Replace
“where Z = X/|X| is £1 as X is > or <0, so that
AXT i X >0
oX) = { BX" if X <0,
with
“where Z = X/|X| is 1 as X is > or < 0, so that

AXT i X >0
5(X)_{ ~BX" if X <0,

6. page 215, Exercise 3.40. Replace part (¢) with

For 6 = y+io, where i = v/—1, show that the problem is invariant under

: az+b ab+b _
the transformation x — #==7 and 6 — 7775, where ad — be # 0.

7. page 229, Example 1.3. Replace the first display

7(0|z) = Gamma <a +z, 1_bH)>
with

_ _ b
7m(0)z) = Gamma <a + nz, 1—|—nb)

and the second display

Bz b
o) = E@Hz) 1o tah)




10.

11.
12.

13.

14.

15.

with ( ) k‘ )
EO "z b
ki=\ _ — 7 _
(@) E(9-k|z) 1+nb(m+a k)

page 233, line 16 |, change “Example 1.3” to “Example 1.5”
page 234, line 8 |, change “Corollary 2.7.19” to “Corollary 1.7.19”
page 235, display (2.6), change
/ o(0)dA(B) dO = 0
to
/v(@)d/\(&) =0
page 236, line 4 | in Example 2.5, change (1.5.44) to (1.5.43)

page 236, display (2.7), change second line of display from

2(1) = 5 2(B) e

1 a 1 a?
E - - 7? g> 1) E() - 77 g>27
(T) g—1 72 (g—1)(g—-2)

page 236, line 10 | in Example 2.5, change (o 4+ y)/(r + g — 1) to (o +

y)/(r+g9-1), r+g>1
page 236, change display (2.8) from

a+Y
n+2g—2
to a4y
m, n+2g9g>2

page 238, display (2.17), change

L R

1({ n 3 o F(m)r(n—x)p (1-p)

Jo ( - )p” L1 —pyne-t
to
(p (1 —p)" L (n)




16.

17.

18.
19.
20.

21.

22.

23.
24.

25.

page 242, 5! line of display (3.10), change

a2 h(x) 1

- eEmTi—A(n <) 7t
e / h(x) () dn

to 5
B th(x) 1

= | &EnTi—AM ()7
o | n(x)(m) d

page 243, line 15 | (display in middle of page), change

E, {_aaxi log h(X)} = / { ai,- log h(x)] Py (X)dx = 7;.

[ ] -/ 2

1o 1(3)| () =

to

page 268, line 9 |, change 7(y|x) = m(x|y) to 7(y|x) x m(x|y)
page 268, line 12 |, change “Equation (5.4.2)” to “Equation (6.17)”.

page 269, display (6.25), change
EOu) = [ E(les b)) db

to
E(\|x) = /E()\Z-|x,b)7r(b|x) db

page 270, Example 6.7, change “(5.5.8)” to “(5.8)” (2 times) and “(5.6.5)”
to “(6.5)”.

page 295, Exercise 6.9, line 2 T, replace

£7@) = [ foln = V@) - 1) f W)y
with
fr@) = [ O - )Wy
page 296, Problem 6.11, change “(5.5.8)” to “(4.5.8)”

page 296, Problem 6.13, change ‘(5.5.7)” to “(4.5.7)” and “(5.5.8)” to
“(4.5.8)”

page 297, Problem 6.16, change ‘(5.6.32)” to “(4.6.32)” (three times) and
“(5.6.5)” to “(4.6.5)” (two times) and “(5.5.8)” to “(4.5.8)” (three times)



26.

27.
28.

29.
30.
31.

page 311, line 11 |, change “then J, is minimax if and only if” to “then
Oa is minimax if”

page 355, line 13 | (after display (5.2)), change “(5.17)” to “(4.17)”

page 355, line 15 | (after display (5.3)), change “Theorem 4.7.2” to “Corol-
lary 4.7.2”

page 437, line 17 |, change w? < v? to w? > v?
page 549, line 3 |, change “TPE2” to “TSH2”
page 578, line 8 |, change “Em” to “EM”



